@ Signed Multiplication Facts
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Multiplying and Dividing
Rational Numbers
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¢ Look for and make use of structure.

You can use patterns to analyze the signs
of multiplication facts involving positive and
negative numbers.

> Analyze the sequence of products with 4.

o What pattern do you notice in the products as the numbers
multiplied by 4 decrease?

The product clecrenses bj Y each
+ime.

e Continue the pattern to determine each product.

@4--1= -4 ®4--2= - ©4-(

e Describe the pattern(s) that you notice in the new products.

A A b DM >

-3)z =l %=

They oure 4 less bhanhe previows product.

2 Analyze the sequence of products with =5.

o Describe the pattern and then extend it by writing the next =B «B=525
three number sentences. B _
5-4=-20
CEach product 1< © more vhan I
Mo previsns pn duct.
ek QRIS TR 52210
=54 1=-5
-5.0=0
5.2 9
o How do these products change as the numbers multiplied _nr
by -5 decrease? ~Se"2 210
-S.73 = (S

T qrodust inTrases V) S
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* Look for and express regularity in
repeated reasoning.
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f ACTIVITY 2 Continued

2 Look back at the products you have determined in this lesson to answer each question.

o Describe the sign of the product of each pair of integers.

(@) Two positive integers (b) Two negative integers
poSitive positive
(©) One positive and one negative integer (@) One integer is zero
anah‘ (e z2erd

o When you know that the product of two integers is negative, what can you séy about
the two integers? Give examples.

The +wo nteqers have difFerent s190S.

-3-22 -
d:22 ==

o Describe a rule that will help you multiply any two integers.

ASK YOURSELF...
... Even # ot neﬁﬁqes . Does the order in

== = which you multiply
t ?O.SH'NC the integers matter?
- % -
03d * of né’ﬁoﬁives 2
-:f — X nejcﬁ‘ivf«
QUse your rule to evaluate each expression. _ o
6.5 = 30 ®-8.7 = "6l  (©=3.2 (~4 = 2\
6-(-5) = =30 8.(-7)= 5 —3.(-2)--4 = =24
6.5 = ~30 g:(-F)= 20 3.(-2)-4 = "24
-6-(-5) = 30 g.7 =5k 3.(-2-4 = 24

3. 2 .(-4) ﬂ
S . L =32 .4 -2\
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j ACTIVITY 3 Continued
Same rules apply hat
y were wed for matpli Cation

o Fill in the unknown numbers to make each number sentence true.

@56+(8)="~"T ®28+¢4= "]

©-63: 9 -7 @23 =8
® 32 (-8)=-4 ® -105+ 2| =-5

®_0 +¢8=0 ®-26+ 2l =-1

¢ J21dO1

o Describe the sign of the quotient of each pair of integers.
REMEMBER...

(@ Two positive integers A quotient is
the answer to a
division problem.

?o.si‘h'ie-

@ One positive and one negative integer

N eﬂa‘h\f e

@ Two negative integers

posiﬁ\(&

(@ The dividend is zero
ZEre

e How do the answers to Question 4 compare to the answers to the same questions
about the multiplication of two integers? Explain your reasoning.
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